Planning Guide: Circles

Ways to Assess and Build on Prior Knowledge
· Estimate the measure of the following angle. Explain your thinking.


                                ?

· Explain, using a model, that the sum of the interior angles of a quadrilateral is 360o.

· Write a rule for finding the perimeter of:

a. any polygon

b. a rectangle that is not a square

c. a square

· How many metres of fencing are required to enclose, completely, a rectangular yard that is 25 m by 35 m? Explain your thinking.

· If the perimeter of a square garden is 24 m, what is the length of each side of the garden? Explain your thinking.

· Find the perimeter of the rectangle shown below. Use the formula for finding the perimeter of a rectangle.

                                                            25 cm

                         40 mm

 

If a student appears to have difficulty with these tasks, consider further individual assessment, such as a structured interview, to determine the student's level of skill and understanding. See Sample Structured Interview: Assessing Prior Knowledge Skills found on pages 2 and 3 of this document.

Sample Structured Interview: Assessing Prior Knowledge and Skills

	Directions
	Date: 

	
	 Not Quite There
	 Ready to Apply

	Place the following angle before the student and say, "Estimate the measure of this angle. Explain your thinking."

                  ?


	· Estimates more than 50 degrees or less than 40 degrees.

· Does not use referents to explain his or her thinking.
	· Estimates about 45 degrees and uses the square corner as a referent, thinking that the angle is about half a right angle.

	Say, "Explain, using a model, that the sum of the interior angles of a quadrilateral is 360o."

	· Draws a quadrilateral and attempts to measure the four angles but is unable to get a sum of 360o.

· Draws a quadrilateral and cuts off the four corners but is unsuccessful in arranging the four angles to make a complete circle.


	· Draws a quadrilateral, cuts off the four corners and arranges them carefully to make a complete circle.

· Explains that since half a circle is 180o, then the entire circle must be 360o.

	Say, "Write a rule for finding the perimeter of:

a. any polygon

b. a rectangle that is not a square

c. a square."

	· Does not write a rule and is unable to generalize appropriate formulas.

· Does not explain what perimeter means in attempting to find a rule.


	· Writes a rule for each perimeter, recognizing that perimeter is the distance around a 2-D shape.

	Present the following problem to the student orally and in writing:

"How many metres of fencing are required to enclose, completely, a rectangular yard that is 25 m by 35 m? Explain your thinking."

	· Adds the two numbers but fails to double the answer to obtain the perimeter of the entire yard.

· Finds the perimeter but is unable to explain the process.
	· Finds the perimeter of the yard correctly and explains the process by using a diagram and/or appropriate number sentences.

	Present the following problem to the student orally and in writing:
"If the perimeter of a square garden is 24 m, what is the length of each side of the garden? Explain your thinking."

	· Is unable to find the length of each side.

· Guesses the answer.

· Finds the length of each side but is unable to explain the process.
	· Finds the length of each side and explains the process clearly; e.g., a square has four congruent sides, therefore, the length of each side is one quarter of the perimeter.



	Present the following problem to the student, orally and in writing:
"Find the perimeter of the rectangle shown below. Use the formula for finding the perimeter of a rectangle."
                                                            

                           25 cm

                                           40 mm
	· Does not convert the units so that the units of measure are the same for all sides of the rectangle.

· Converts the units to the same units for all sides of the rectangle but only adds two sides or calculates incorrectly.  

· Finds the correct answer but is unable to apply the formula correctly.
	· Converts the units so that they are the same for all sides of the rectangle.

· Uses the formula for finding the perimeter and calculates the correct answer; e.g.,  

P = 2 (L + W)

P = 2 (25 + 4) = 58 cm.
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